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. Complete the sentences with “too”, “enough” , »

. ) W much’”. 100 many" o s,
 mesrcn O foo  low.Imfreezing,
(B This basket is not big ——— eS\OU%\l === fonallineshopplhg;

(&) We have — uerO.V \\(\C\S\La souvenirs.

— e
-

- -—

e @) Yes, and | think thereis J}‘OO_ﬂUC\\m sugar in it.

Yes, but | don't think I'll have \V.O_O W\\)QX_\

@ We haven'tgot A__‘(QQ_._WLQC_h_ money for the expedition.
100 M Cl\’\\.b ____carsand k_\Oo_LV‘L)C\J\__ smoke from factories.

(h) This video clip is good hQ_QQU%L to win the contest.

() The electrical system in your house is SFOO old

® powehave Y06 o

salmon for everybody?

(&) You don't know him well -_~Qm.2%_‘(\ to say that
@) Yes, but she talks __jgo MX}Q\]\‘

——



Answer the questions using “too”

@ why can't elephants jump?

pecoe  ele \)\ﬂ(;x'ﬂ\'j) ae oo \D,.‘cj

@ 2.Why can’t a child drive a car?

Q)eCOUi)@ T con \oe \’Qﬂd \CO Aaﬁ%eroub

@ why couldn’t you solve the problem?

Qecose T -Jdonk Yoo Koow  ‘now)

@) why couldn’t he drink the coffee?

Becouse Wodid oot lote yeo csooo\

., Answer the questions using “enough”. ST

Why can't you buy a Ferrari?

becase V dont lhave eno u%\n ' Moy
@ Why can’t Sue lift 100 kilos?

\oeccme W oae 06“3 e\ﬁcucj\q ‘blkvcn%
(¢.) Why couldn’t Sam reach the cupboard? ‘* ‘

beCOUSe e cup\ocawd 15 ey j e\ma‘n \all

(d) Why couldn't she put on the dress?

ecuuse e Owes @mocgl\ ot XOY eN




